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QUESTION 1

When initially configuring the BIG-IP system using the config utility, which two parameters can be set? (Choose two.) 

A. the netmask of the SCCP 

B. the IP address of the SCCP 

C. the port lockdown settings for the SCCP 

D. the netmask of the host via the management port 

E. the IP address of the host via the management port 

F. the port lockdown settings for the host via the management port 

Correct Answer: DE 

 

QUESTION 2

A site has assigned the ICMP monitor to all nodes and a custom monitor, based on the HTTP template, to a pool of web
servers. The HTTP based monitor is working in all cases. The ICMP monitor is failing for 2 of the pool member 5 nodes.
All other settings are default. What is the status of the monitor is working in all cases? 

A. All pool members are up since the HTTPbased monitor is successful. 

B. All pool members are down since the ICMPbased monitor is failing in some cases. 

C. The pool members whose nodes are failing the ICMPbased monitor will be marked disabled. 

D. The pool members whose nodes are failing the ICMPbased monitor will be marked unavailable. 

Correct Answer: D 

 

 

QUESTION 3

A BIG-IP device has only LTM and ASM modules provisioned. Both have nominal provisioning level. The BI6-IP
Administrator wants to dedicate more resources to the LTM module. The ASM module must remain enabled. Which
tmsh command should the BIG-IP Administrator execute to obtain the desired result? 

A. modify/sys provision asm level minimum 

B. modify /sys provision Itm level dedicated 

C. modify /sys provision asm level none 

D. modify /sys provision Itm level minimum 

Correct Answer: A 
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QUESTION 4

When configuring a Virtual Server to use an iRule with an HTTP_REQUEST event, which lists required steps in a proper
order to create all necessary objects? 

A. create profiles, create the iRule, create required pools, create the Virtual Server 

B. create the Virtual Server, create required pools, create the iRule, edit the Virtual Server 

C. create a custom HTTP profile, create required pools, create the Virtual Server, create the iRule 

D. create required pools, create a custom HTTP profile, create the iRule, create the Virtual Server 

Correct Answer: B 

 

QUESTION 5

Active connections to pool members are unevenly distributed. The load balancing method is Least Connections
(member) Priority Group Activation is disabled. What is a potential cause of the event distribution? 

A. Priority Group Activation is disabled 

B. SSL Profile Server is applied 

C. Persistence profile is applied 

D. incorrect load balancing method 

Correct Answer: C 

 

QUESTION 6

Assume the bigd daemon fails on the active system. Which three are possible results? (Choose three.) 

A. The active system will restart the bigd daemon and continue in active mode. 

B. The active system will restart the tmm daemon and continue in active mode. 

C. The active system will reboot and the standby system will go into active mode. 

D. The active system will failover and the standby system will go into active mode. 

E. The active system will continue in active mode but gather member and node state information from the standby
system. 

Correct Answer: ACD 

 

QUESTION 7
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A BIG-IP Administrator needs to remove a pool specific health monitor. There is a pool named Best Pool with two
members, one named Best pool member and one named Best pool member2. In the Local Traffic section of the
administrative GUI, which stops should the BIG-IP Administrator take to remove a pool level monitor? 

A. Pool > Pool List > Best Pool > Members > Health Monitors 

B. Nodes > Node List> Best _pool_memberl > Heath Monitors 

C. Monitors > Monitor Name> Instances 

D. Pool > Pool List> Best Pool > Health Monitors 

Correct Answer: D 

 

QUESTION 8

Which parameters are set to the same value when a pair of BIG-IP devices are synchronized? 

A. host names 

B. system clocks 

C. profile definitions 

D. VLAN failsafe settings E. MAC masquerade addresses 

Correct Answer: C 

 

QUESTION 9

Generally speaking, should the monitor templates be used as production monitors or should they be customized prior to
use. 

A. Most templates, such as http and tcp, are as effective as customized monitors. 

B. Monitor template customization is only a matter of preference, not an issue of effectiveness or performance. 

C. Most templates, such as https, should have the receive rule customized to make the monitor more robust. 

D. While some templates, such as ftp, must be customized, those that can be used without modification are not
improved by specific changes. 

Correct Answer: C 

 

QUESTION 10

Assume a virtual server has a ServerSSL profile. What SSL certificates are required on the BIG-IP? 

A. No SSL certificates are required on the BIG-IP. 

B. The BIG-IP\\'s SSL certificates must only exist. 
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C. The BIG-IP\\'s SSL certificates must be issued from a certificate authority. 

D. The BIG-IP\\'s SSL certificates must be created within the company hosting the BIG-IPs. 

Correct Answer: A 

 

QUESTION 11

Users are unable to reach an application. The BIG-IP Administrator checks the Configuration Utility and observes that
the Virtual Server has a red diamond in front of the status. What is causing this issue? 

A. All pool members are down. 

B. The Virtual Server is receiving HTTPS traffic over HTTP virtual. 

C. The Virtual Server is disabled. 

D. All pool members have been disabled. 

Correct Answer: A 

 

QUESTION 12

Which two statements are true concerning the default communication between a redundant pair of BIG-IP systems?
(Choose two.) 

A. Synchronization occurs via a TCP connection using ports 683 and 684. 

B. Connection mirroring data is shared via a TCP connection using port 1028. 

C. Persistence mirroring data is shared via a TCP connection using port 1028. 

D. Connection mirroring data is shared through the serial fail over cable unless network failover is enabled. 

Correct Answer: BC 

 

QUESTION 13

Which cookie persistence method requires the fewest configuration changes on the web servers to be implemented
correctly? 

A. insert 

B. rewrite 

C. passive 

D. session 

Correct Answer: A 
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QUESTION 14

Assume a virtual server has a ServerSSL profile. What SSL certificates are required on the pool members? 

A. No SSL certificates are required on the pool members. 

B. The pool members.SSL certificates must only exist. 

C. The pool members.SSL certificates must be issued from a certificate authority. 

D. The pool members.SSL certificates must be created within the company hosting the BIGIPs. 

Correct Answer: B 

 

QUESTION 15

Given that VLAN failsafe is enabled on the external VLAN and the network that the active BIG-IP\\'s external VLAN is
connected to has failed, which statement is always true about the results? 

A. The active system will note the failure in the HA table. 

B. The active system will reboot and the standby system will go into active mode. 

C. The active system will failover and the standby system will go into active mode. 

D. The active system will restart the traffic management module to eliminate the possibility that BIG-IP is the cause for
the network failure. 

Correct Answer: A 
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